1 2 3 5 6
830 1800 2000 830
g Ar— LIPS
o T ] v P ; B 0% nA%— ¥7iL -9 NSG=6000 (hER+EN-MER)
i — 1 ER - fimE[7A-600 || 2%Mg—55%Al-Zna%» - *mmE1-#i 1=0.8
| | #8171y | PR 0-100x 100X 3.2 # VUG HBERER %
;/§ ! P 0-100% 150% 3.2 # 1AM B kR 3
o | B 0-100x 100x 3.2 #ILiimBiEH K2
I3 | i I EPPIER I %% |NK15R 2%Mg—55%Al-Znd% - «mmI-#i 1=0.8
L= I\ 15 T 2%Mg=55%Al—Zn &9 - * M@ 1=0.8 0-30x 30 LS
| “jﬁ | | I Yy - 3 - % KEI-IR 1=0.5
Ei%ﬁ? gzgg _ - | 3 BRUME SB1K || 2%Mg—55%Al-ZnA % *mm-8i 1=0.8 B2
105 2940 2940 409 3 95|, 785 | 1800 | 2000 1525|1305 - AWP ranysi@i 1=0.27 .
& o o la | PR ) fL 2%Mg=55%AI-Zna% > X mEI-BiR 1=0.8 GA%ITH)
¢ S 3 - w2l — I 4 | 7 A7 — LR 2%Mg—55%Al-Zna 4% > *HEH-FR 1=0.8 (F#IT)
e i = N = N D) 2%Mg—55%Al-Znb 2%~ xmm-#E 1=0.8 (H%)7T 1)
=== = | I ‘ vy s IBE PCEiE#
= | o BEA BEXACSHERSSH 318x110
o 2 SOO‘L, Ky < -2 TR
§ 3 B e ‘ o LFH - PEiR 3
I~ N _ - ° 1 Ok
‘ o | - PEBI B
! % ; iy s 4y M A— || AESH RS
| E
S i — |z e ¥ SERSHE1.SmMEABLAARL Y T, (BHE0.3g/cm’ 0BaLnyET)
| |
| |
49)] |
1 3345 | 3345 1 o F f“*f* = H* = = *H i
Cke)v-29b15%) 6840 N e
= A
3 (RN TR) 5460
A-AKEN TEN
AR TR) 5460
95| 735 1800 2000 525 305
'L%EN IS
NAANNANNNNNS
o T —p N7 |
ChikghT55) 6780 19 i \
(AT 6600 ! - ‘
3250 100 3250 Tk ‘
Yoy 3-0 AN b=l 630 600 |
LIER260 Ciiy7 ff) AL 20 (YT 1) |
0l |
o @]
= = — = ——— =
N | o~ o
3 -tz D 2
3 |
* GL = | ‘
H CEBEOTE) 3160 | (ABEOTE) 3160 H
l 3345 3345 | | 3345 J 3345
ORI -1 %) 6840 |
FHR [ fIEN - BEX | EER
Hi Et " s F =] EE M E & 2| F1vy 48 |12 58 AR Frvy IHEH & &t
— K A 23
(&) 8 el »2r—+s : - = —
c EEEES R’
@ HR5—FHL—> @ KBAREIVRTLES D R 1/60 "5654.01.10 | NSG—6000 (fn&RLEIY7Y-MEk) HmEs NSG60std09SL
1 [ 2 3 "4 [ 5 [ 6




